normalized X?

Entries 329
Mean 1114
0.6791

o8 ‘2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

{8 |

| |'|‘l|” i |
.10.20.3 0.

m=m== DQM_original_step2_tthar-phasel-newgeom

mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

A 2.5 =~ 5
- I ) E
2 I A~ 4F
(\l\ I = E
S LT EEEREEEEEEEEC T AREREREE = 3F
v N * o E
: o
1.5 VooE
oF- t
2F 1
05 -3f- -
,42_
2 o 5f
T T 3f
x @
SE
£
o
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A A E
2 2 18f-
< % 1.6F-
\ v F
1.4~
1.2F
-
0.8 0.8F-
0.6 0.6F
0.4 0.4F
0.2) 0.2F
o o O
© ©
v @
0.5F
0_3 .
10 1072 107t
AR(track, jet
g F
N
- E
o E . .
- E H
I E .
o -
Vv E N
_4;_. i
o SE ] fiF k
£ k- HLE-E-RER - Feeeeaaes
o - . i .
o5 === -1-A1 1Tt -FHFFF------ e




	Contents
	Page 1


